Danfilh

Accessories

Differential pressure controls, type MP 54, 55, and 55A

Description

Code no.

DANFOSS
A60-1102.10

=0

Wall bracket
Bracket
Screw, M4 x 5
Washer

Angle bracket
Bracket

Screw, M4 x 5
Washer

Accessories for bracket
Screw, M4 x 5
Washer

Solder nipple for G 3/8
Pos. 1 Union
2 Nipple,
ID 8 mm/OD 10 mm
3 Alu gasket

Weld nipple for G 3/8
Pos. 1 Union
2 Nipple,
OD 10 mm
3 Alu gasket

Reducer

G3/g-"/,in.flare

Pos. 1 Reducer
2 Alu gasket

Alu gasket
for reducer and nipple
Pos.2 Alu gasket

Cutting ring coupling
for 6 mm steel tube

060-105566

060-105666

060-010366

017-436866

017-422966

017-420566

060B120866

060B121066

Description Code no. Code no.
Multi- Industry
pack pack
Capillary tube, copper
1/4in. or 6 mm flare nut
21 mm tube “tail” 0.5m 060-002466 060-019066"
0.75m 060-007566"
1.0m 060-004866 060-019166"
1.5m 060-004966 060-019266"
20m 060-016366 060-019366"
50 mm tube “tail” 0.5m 060-017066 060-007066"
1.0m 060-017166 060-007166%
1.5m 060-017266 060-007266"
225m 060-007666>
1/4 in. or 6 mm flare nut with
Schraeder valve opener
05m 060-000466"
1.0m 060-002266 060-000566"
1.5m 060-000666"
Capillary tube, copper 1.0m 060-002066
1/4in.flare nut M10 x 0.75
not for NH,
1/4in. or 6 mm flare 0.5m 060-0166
1.0m 060-0167
1.5m 060-0168
Capillary tube, stainless steel 18/8
for NH,
G1/2and G 1/2 1.0m 060-0169

150 pcs.
240 pcs.
325 pcs.

© Danfoss A/S, 12 - 2004

RX.5C.A3.02



		2004-12-15T10:03:28+0100
	Krzysztof Lech




